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	is the general rule for an arithmetic sequence
	The sequence is 9, 12, 15, 18, ……
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	means the sum of the first ten terms

	Use the formula 
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	First term is 9
	Last term is 36
	Sum of this series is 225
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	is the general rule for a geometric sequence
	The sequence is 

1, 0.2, 0.04, 0.008,…
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	means the sum to infinity
	Use the formula 
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	This series can be summed to infinity because 
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	The sum is 1.25
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	is the general rule for a geometric sequence
	The sequence is 2, 6, 18, 54,……
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	means the sum of the first 10 terms
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	The sum is 59048
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	This means
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	The sum is
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	The sum is 1.25
	The sequence is 9, 12, 15, 18, ……
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	Use the formula 
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	Use the formula 
[image: image19.wmf])

2

(

l

a

n

S

n

+

=


	The sequence is 

1, 0.2, 0.04, 0.008,…  
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	Sum of this series is 225
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	means the sum of the first 10 terms
	the general rule for an arithmetic sequence
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	means the sum to infinity
	means the sum of the first ten terms

	This series can be summed to infinity because 
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	This means 
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	Last term is 36


	is the general rule for a geometric sequence
	The sum is
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	is the general rule for a geometric sequence
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	The sum is 59048
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	First term is 9
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	The sequence is 2, 6, 18, 54,……
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